Using Theorems

AB = CD ZAOC = ZBOD
Overlapping ® @ -2 2 Overlapping
Segment Thm. A B e D Angle Thm.

AC = BD ZAOB = /COD

Draw a conclusion by applying either the overlapping segment theorem or the overlapping angle theorem.
Given: Conclude: {i \

1. ZAOC = £BOD

2. ZAOE = ZBOF

3. £ZBOE = ZCOF

4, ZAOD = Z/BOE

5. ZBOC = «DOE

6, AC=B
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Write flow proofs for each of these: '

- = - 0O
11. Given: AC = BD 12. Given: ZAOB = £COD AR
A0 = DO ", NS A0 =DO . S
/OAB=,0DC & B cC D ZOMB=,0ODCA B C D

Prove; AAQOB = ADQC Prove: AAQOC = ADOB



